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<<Calculus™VectorAnalysis~

é:(ai’az)

a=(a,a,a,)

4, 3)
ten = {PointSize[0.01], Point[{4, 3}]};
sen = Line[{{0, 0}, {4, 3}}1;

ya = Polygon[{{4, 3}, {3.4, 2.8}, {3.7, (3.7*3)/4}, {3.75, 2.55},

tl = Text[FontForni"P", {"Courier", 18}],
t2 = Text[FontForni"0", {"Courier", 18}],

Show| Graphi cs[{ten, sen, ya, tl1, t2}, Axes -> True, GidLines
Pl ot Range -> {{-2, 6}, {-2, 6}},

Mathematica
Cross[a,b]

a={al,a2,a3}

a=(a,a,a,;), b=(b,b,b), c=(c,c,.c,)

a’p
a’ b
(a,b,c) =axb’ c)
[a,b,c=a" (b” ©)
a, b, c

a’ (b c)=(axc)b- (ax)c
o o =l libl" - (@>0)*

A=(A.A,A)=Ai+A+AK

{4, 3

{4.3, 3.3}];

-0.3}];

-> Automati c,

AspectRatio -> Automatic]]

b={b1,b2,b3} a.b
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dA=dAi+dA j+dAK
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r =(cost,snt, —
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a=(3%t,-1%), b=(t-2t5,t%) (axb), (a” by

3N
e

A=At), B=B(t) t
A Sdt=B+C C
A=A =ADI+AD]+AMDK  [tt]
éi(t)dt = @?A(t)dtgi +®‘:Ay(t)dtgj +§%§Az(t)dtgk

a=(3t>t1- 4t°)
Cpct et Gpadt
grad
=i R [ I I
j =] (xy,2 Nj =—i+—]j+—Kk
> My 19z
Mathematica f[x,y,z] Grad|[f,Cartesian[x,y,z]]

p=(x.2) r=yx*+y*+2?

Nr:Tp, Nr* =nr"2p, Ng=z=- =
elg r

oo o 7 1 T
=i (X,V,Z Di =N¥ = + +
i =1 (xy,2) ] o a7 2

Mathematica f[x,y,z] Laplacian[f,Cartesian[x,y,z]]

j =x’yz- 2y*Z° +4xy? Dj



div
A=A(x,y,2)= Ai +A ]+ Ak
dvi=A 4% TA

> v 9z
=g 1 Ho divA = I xA
X Ty Yzg
Mathematica g = {91[x,y,z]1.92[%,Y,z],93[x.y,z]}

Div[g,Cartesian[x,y,z]]

— N

A=vyi+ 2xz] + 26"k divA

rot curl
A=AXY,2) = Ai+A]+AK
A TALG oIA TAG @A TAG

tA=go 3. 125, I+
OATEY s Em o & Ty 5

=(f%+j’ﬂiy+kﬂ—1)' (Ai+A, j+AK)

Mathematica g = {91[x,y.z],92[x,y,z],93[x.y.z]}
Curl[g,Cartesian[x,y,z]]

a=(x%, 2, xy’z") rot a
a,b

1) N (a+b)=N"a+N" b

@ N(as) =@\)b+(bx)a+a” (" b)+b” (N a)
@) Nxa b)=bx N a)- axN’ b)

@ R’ (@ b)=bN)a- (@xX)b+a(l %) - bR xa)
) N” (N a)=N(Nx)- N?xa

6) N” (fa)=Nf  a+f(N" a)

@ N +j ) =Kf +Kj

©® N@Ej)=fRj +j Nf
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9 NxNf Nj)=0
(10) rot(gradf )=N" Nf =0
(11) div(rot a)=NxN" a)=0

C={pt)|tT [a,b]}

p(t) = (x(t), y(t)) p(t) = (x(t), y(t), z(t))
p'(t) = (X (1), y' (1))
p'(t,)* 0 C  p(t)
C p(t,) p(t,)
C p(t,) p(t,)

C ={p(t) t1 [a,b]}

L(©) = g/x (O + y (1)t

L(C) = QX (17 +y (1) + Z (1)
p'(t) = (X (1), ' (1)

P @) =/X (1) + y'(t)? |p'@)] =4/X ()% + y (1) + 2 (t)?
L(C) = 9P (Bt
C ={p(t)}
s(t)
1) = Gp (Dt
s = s(t) t =t(s)
C  p(t) = p(t(s))
p'(9) =1
| |
C={p(s)}
e(s)=p'(s)
e g =1 s
de . _
Py x =0 . (1)



elxezzo, e2>62:1 (2)

—x, +g*x—=2=0 .. (3)

&(9)

C={p(s))
e(s)=p'(s)
e =1 s
26 (s) %,(5) = 0
e'(9 &l &' (9) k(s)

K(9) =& (9) 76 (s) = X' (97 +Y'(5)° +Z'(9)?
e(s)
&,(s) k(s)* 0
e’ (9 =k (9)e,(s)
e(s) &,(s)
k(9)* 0 e(s)

&(s) =&(s)” eys)

&(9)




{€.(9),&(9), &(s)}

e '=ke, e, =k

exe, =0
0=g", tg %, =k te g’
e =1
e ,'=0
e & e, 6
e, =ae +te, e xe'=-k a=-k
e, =-ke +te,
e xe =1 6% =0 &' &
e, e,'=ae +be, e e =0
0=¢g"e; te xe'=ke, % + & >0, = g &) a=0

e % =0 0=g,%,; +& xe,'= (-ke, +1&,) %, +6, 6=t + e xe;’
b=-t

ke,
=-ke +te,

= -tez

]
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i
;

e
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p(t) = (acost,asnt,bt)
p(s) {e(s).&(s), &(s)}

(1) x=t?,y=t,z=t+1
(2) x:cost,y:sint,z:«/f
(3) x=e',y=cost,z=t

] A A ds
PR OAds _
A
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V(x,y,2)

(‘@/ xas = (‘ﬁ}iidev

@861V1+11V2+ V, 0

N\ ﬂ 0
dz +V,dzdx + V., dxdy) = 3 S0dxdydz
@y V.dy ) ,dxdy) xR bﬂ y

f(x,y,2), 9(x,y,z)

AN\ N — \\ ﬂg
cmm(ng +grad f xgrad g)dV = @f %ds

V(x,y,2)

@rotv xS = QS/ xdr

&V, 1V, aéM V0 &V, V.0
— - —-——dzd :dd“ dx +V.,dy +V,dz
fy ;dy S i gy = QM Vody Vi)
x=0,x=2y=0,z=0,y+z=1
V =(x%z 3y(z+1), z?)
z=1- x*-y* x30,y30,z30
(0, 0, y2) 4/15
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